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1. If secx = 3 and _?gr_ <z < 2, then (sinz + cosz) = «E;Z,M NEEY
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2. Find the equation of the line which passes through the centers of these two circles:

(z—-32%+@w+1)?=1 and 2*+y*—4dy=1.
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3. If f(z) = 22+ €=tV and g(z)
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4. The equation of the function g(z) obtained by shifting the graph of f(z)
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three units vertically down and then reflecting it across the z-axis is given by
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5. Solve for z: el?*~t =2, e -
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10. Let G(z) = ¢ =+ 2?2 if0<z<1. Then G is discontinuous
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11. Consider the statements %(éa /
I If hm f(z) = lim f(z), then f is continuous. “‘%l}g@, W«:;km
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II. If f is continuous at b, then f(b) does not have to be defined. «(@@m ﬁwm % %
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III. The function g(z) = v/1 — 22 is continuous only on (~1,1). {&ﬂ e % o |
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13. What is the total number of horizontal and vertical asymptotes for the function
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